55kg/a

5+2+0kg/10a 5+2+1.5
kg/10a 2.8 2.9 /o
3.5 35.0 36.0
092-924-2937
0930-23-0163
(H13)
20 25 26 26
55kg/a 5+2+0kg/10a
5+2+1.5kg/10a 2.8 2.9
3.5 (SPAD 502 ) 35.0

36.0

40

900 1050 28 23 75 30




/ x0/ g kg/a % % %

5.15 8. 1 9.11 27.7 415 284 23.3 56.0 8.0 6.9 0.5 13.8 (+0.59)
6.10 .16 9.25 26.2 379 267 23.8 56.5 4.5 6.3 0.5 14.2 (+0.39)
.25 .25 10. 4 25.6 392 295 24.3 61.5 4.5 6.7 1.4 1.3 (+0.50)
5.25 8. 6 9.11 27.2 387 283 22.2 54.6 6.5 5.5 0.9 17.0 +0.22
6. 7 .13 .20 26.6 360 290 22.4 55.8 4.0 4.7 1.0 4.6 +0.43
.15 .18 .26 25.9 362 273 23.0 53.7 3.8 2.9 0.4 4.3 +0.25
.22 .22 .29 25.9 389 298 22.8 57.0 2.5 2.8 1.7 0.4 +0.20
1.H13 14 () 14 2. 20
3. 1 3 1 9 4.
C.S SPAD
Nkg/10a / x 100/ g kg/a %
3+2+1.5 3.3 34.9 350 263 24.4 58.1 4.0 6.4 +0.28
3+2+0 3.3 35.4 357 256 23.5 54.8 3.3 6.1 +0.31
5+2+1.5 3.7 36.7 381 294 23.9 62.2 3.8 6.5 +0.28
5+2+40 3.7 36.2 375 275 23.6 59.4 3.3 6.2 +0.34
3+2+1.5 3.2 33.7 354 276 22.7 54.1 4.0 5.9 +0.19
3+2+40 3.2 33.7 346 264 22.4 49.2 4.5 5.7 +0.38
5+2+1.5 3.3 35.3 371 293 22.7 56.0 4.5 6.2 +0.20
5+2+0 3.3 35.3 366 276 22.3 51.1 4.5 5.9 +0.37
1.13 14 2.C.S. SPAD SPAD-502
3. 4. 15.0
[o m |
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